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(X = 1340)

12.07)

(Univariate)

5 5 5 5
1193 1313 127 1473
5 15 5 5
1220 1480 1307 1353
30 %0 % K\
12,07 1397 13,07 1413

(X= 130

(X=1413)

60
1302

60
1340

120
1321
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8
N) 5
707
N 5
700
N) %
703
8
(X=789)

140

6.3

30
6.97

(X=787)

(X = 1480)

1.87

1.80

30
183

(X = 6.99)

(X = 659

113

(X= 1199
15 50
780 753
5 0
6.60 695
%0 10
720 726
(X
(X=6.97)
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(N) 15 15 15 15
X 5.67 7.13 7.60 6.67
(N) 15 15 15 15
X 5.67 7.40 7.47 6.93
(N) 30 30 30 30
X 5.67 7.27 7.53 6.80
9
(X=687) (X=6.77)
(X=759)

(X=7.60)

(X =567)

114

60

6.77

60

6.87

120

6.82

(X = 567)
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10

(AXQ)

BXQ)

(AXBXC)

*P<.05

S df
440 1
440 1
85.00 1
1020 1
0.67 1

140 1
2167 1
12179 1
92200 112

104979 119

MS

4.40
440
85.00

10.20

0.67

140

2167

1825
8.23

0.53
0.53
10.32¢

124

0.08

0.17

263

115

466
466
002

268

115

660

107
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(Ax B)

(AXC)

(BXC)

(AxBxC)

SS
9.07
8.00
367

0.20

1.00

240

0.20

30.59
348.40
318.99

df

112
119

05

MS
9.07
8.00
367

0.20

1.00

2.40

0.20

4.37
311

291
251
118

0.06

2.05

0.77

0.06

116

090
A1
209

1%

136

3l

1%



(AXB)

(AXQ)

B XQ)

(AxBxC)

*P< .05

SS df
0.30 1

1470 1

5,63 1

0.003 1

0.83 1

40.83 1

0.003 1

62.36 !

961.60 112
102396 119

MS

0.30
1470
5.63

0.003

0.83

40.83

0.003

891
8.8

0.03
171
0.65

0.004

0.09

4.75%

0.004

117

1552
193
420

950

156

031

950
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6
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0
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8
21
13
N X N X N
60 13.02 60 153 60
60 1340 60 6.98 60
120 1321 120 1.26 120
13
(X = 13.21) n (X = 7.26)
(X = 6.82)
(X = 13.02) (X = 7.53)
(X = 6.77)
(X = 6.98)

13.40)

119

6.77
6.87
6.82

(X =

(X = 6.87)
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N X N X
50 1302 0 700
60 1340 0 75
W B2 1%
14
(X=1320)
7.26) (X=682)
(X = 13.40)
75) (X=7.17)
(X=13.20)

(X =647)

60
60
120

120

6.4/
.17
6.8
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3 12.07 v 703 30
3 1397 N 69 3
Rl 12,67 N 18 3
Rl 1413 N 712 3
120 1321 120 726 120
15 4
(X=1320)
(X=682)
4 1)
(X=1413)
(X=1207) )
(X=783)
(X=697)
©)
(X=753)

(X =567)

121

567
1.2
153
6.80

6.8

(X=126)
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16
SS df
19.02 3
1030.76 116
1049.79 119
16
)
4
SS df
1729 3
361.70 116
378.99 119

v

MS
6.34
8.88

MS
5.76
311

11

184

122

142
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15.03
1008.93
1023.96

18

df

116
119

MS F
501 ol
8.69

123

632
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(K}

120

11.93

1313

1221

14.73

1220

1480

1307

1353
1321

120

1.07

140

187

1.80

1.00

6.3

1.80

6.60
6.40

15
120

124

567

113

1.60

6.67

5.67

140

147

6.93
6.82



19
(X=682)
6.40)
1)
(X= 1480)
1199) )
(X =659)
(X=747)
2
df
12779 7
20 10
104979 119

* p< 05

20

05

MS
1825
8.23

(X=567)

F
2.21*

(x = 13.27)

038



+ + + + 4+ + + +

A

+ 4+ + + 4+ 4+ + +

*p< (b

11.93
0.00

2

(Tukey)

1313
1.20

05

1221
0.33
0.87

1473
2.80
160
241

1220
0.2
0.93
0.06
253

1430
281*
167
253
0.06
2.60

1307
113
0.06
0.80
167
0.87
173

126

1353
160
0.40
121
1.20
13
121
0.4/
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SS
30.59
348.40
378.99

22

23

S
62.36
961.60
1023.96

23

df

112
119

df

112
119

MS
4371
31

MS
891
8.58

140

103

121

210

409



24

*p < (b

24

05

60
60
60

1231
143
6.60

60
60
60

14.05
1.08
1.03

t-test

3.22*
107
0.80
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